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LM.4. vouare given the following data based on 60 observations:
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Calculate the upper limit of the 80% confidence interval for $(21) using the Kaplan-Meier estimate and
Greenwood'’s approximation.

(A)
(B)
(€)

(D)
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0.311
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0.351
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6. (10 points) In a mortality study of a cohort of twelve 80-year-olds, you are given the
following observed exit times:

1%, 2, 2, 2, 4, 47, 5, 5%, 7, 8 9%, 9"

where “+” indicates censoring; all other exits are deaths.

Let S (1) denote the Kaplan-Meier estimate of the time ¢ survival probability, S(¢), for a

life age 80.
(a) (3 points) Specify S (?) for all values of ¢,0 <¢ <9, and hence show that
S (6) = 0.60 to the nearest 0.01. You should calculate .§'(6) to the nearest 0.001.
()] (2 points) Show that the estimated standard deviation of S (6) using
Greenwood’s formula is 0.16 to the nearest 0.01. You should calculate your value
to the nearest 0.001.
(c) (3 points)
(1) Calculate an approximate 95% linear confidence interval for S(6).
(i1) Calculate an approximate 95% log-transformed confidence interval for S(6).
(d) (I point) Explain why the log-transformed confidence interval is preferred when
estimating S(¢).
() (1 point) Suppose that you have a thirteenth observation truncated at time 3 and

right-censored before time 4. Without further calculation explain whether this
would increase, decrease or have no effect on your estimate of S(6).

**END OF EXAMINATION**
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